## **Mid Term Exam**

ID: <u>11533</u> <u>Name: Ashir Ali Khan</u> <u>Semester: 12<sup>th</sup></u> <u>Subject: Differential Equation</u> <u>Teacher: Sir Latif Jan</u>

11533 Date:...../..../20....... MOTOWOTOFOS (a) Q<sub>2</sub> Define differential equation along with two examples: Answer: A differen equation is an 02 equat re terme invol (i-e: dependant derivatives o one variable the other var arith respect to (i-e: independent variable dy Du on independent variable a dependant 415 variable Exomples: y"+2y"=3y or d2y d2 2) dy = 5 x dx a seperable Differential Equation. Define Answer: seperable n Kind a specially straight forward equation 25 ath equation common equations have Seperable form dy REDMI NOTE 2020/4/19 21:05

NIS33 MOTOWOTOFOS Date:...../...../20..... stand y can be brought to apposite sides of the equation. Then integrating both Bides gives y as a function of x solving the differential equation. Q(i) Solve the following Initial value problem using seperable DE and find the interval of validity of the solution.  $(a) y' = \frac{xy^3}{\sqrt{17x^3}} y(o) = -1$ Solution : $y' = xy^{3}$  y(0) = -1→ By seperating we get  $y^{-3}dy = x(1+x^2)^{\frac{1}{2}}$  $-^{3}dy = \chi(1+\chi^{2})^{-\frac{1}{2}}d\chi$ by integration we get -> (  $\int_{\mathcal{H}} (1+\chi^2)^{-\frac{1}{3}} d\chi$ y 3 dy =  $1 \times (1 + \chi^2)^{\frac{1}{2}} d\chi$ U=1+2 Darsi Notes O REDMINOTE 8 2020/4/19 21:05 AI QUAD CAMERA

MOTOWOTOFOS Date:...../..../20......  $dv = 2\pi dx$  $\frac{dv}{2} = \frac{\pi dx}{2}, \frac{dv}{dx} = \frac{2\pi}{2}$ + So 21 · du Tu 2  $-\frac{1}{2}y^{2} = \frac{1}{2}\int \frac{z^{2}}{z^{2}} dz$  $\frac{2}{2} = \int \frac{1}{\sqrt{2}} dv$ Jow by applying power rule Jundr = Unt' with n= n+1 -1-2 ba  $\frac{1}{2y^2} = \frac{1}{2}$   $\frac{1}{y^2} = \sqrt{y}$  $\int \frac{1}{\sqrt{2}} dv$ - there v = x + 1 / 1+ 2 SO  $-1y^2 = \sqrt{1+2t^2}$ Now putting the values x=0, y=-A & we get. in equation  $(-1)^2 = \sqrt{1+(0)^2} + ($ Dar 2020/4/19 21: ALQUAD CAMERA

11533 MOTOWOTOFOS Date:...../..../20...... ow putting the va -> the implicit ea Intion S -1 42 = JI+222 (x > 3 ×2 1+2 42 3-251+20 bothsides taking Squareroo Ne on get + = n N3-211+22 Reapplying initial the condition in shows the correct sign 20 500 (2) 3-2 1+22 ow for interval= Since 12 20 So 3-2 11+22 >0 3 2 51+2 > Darsi Notes O REDMI NOTE 8 2020/4/19

11533 MOTOWOTOFOS Date:...../..../20...... A Now taking square  $(3)^{2} > (2^{2} (J_{1+2x^{2}})^{2})^{2}$   $9 > 4(1+x^{2})$ both sides by ~ we get -->  $\frac{9}{9} > 1 + x^2$ subtracting 1 from 6.5 > Now  $> \chi^2 t / - /$ 9 4 9-4 4 taking square root R X > which means  $5 < x < \sqrt{5}$ 210 1 X 0.2 0.4 0.6 0.8 1 1 -0.8 -0.6 -0.4 =0.2 Dars -2 REDMINOTE 8 -3  $ar{\mathsf{O}}$  . AI QUAD CAMERA

NIS 33 MOTOWOTOFOS  $P_1 = e^{-y}(2x-4), y(5) = 0$ Solution:  $y = e^{y}(2x-y), y(5)=0$  $= e^{-y}(2x-4)$ Yow by integrating both sides and seperating  $\int e^{y} dy = \int (2\pi - 4) dx$  $e^{j} = \frac{2\pi^{2} - 4(\pi)}{2} + C$  $p^{y} = \chi^{2} - 4\chi + ( \rightarrow (A))$ ⇒integration of constant is  $x e.g = \int 1 \Rightarrow 1(x)$ · lo,  $\rho J = \chi^2 - 4\chi + C$ applying the given condition  $e^{y} = (5^{-})^{2} - 4(5^{-}) + C$ eJ = 25 - 20 + C ·· e = 1 1 = 25 - 20 + C1=5+csubtracting 5 from both sides we get 1-5 = 8 + C + 8Darsi Notes O REDMINOTE 8 2020/4/19 🕥 AI QUAD CAMERA

11533 7 Date:...../..../20...... MOTOWOTOFOS Mow from equation c, we get to find implicit solution.  $e^{y} = x^{2} - 4x + c$   $\rightarrow$  putting the value of c, we get  $e^{y} = x^{2} - 4x - 4$ > huwe will take natural log of both sides y(x) = ln (x-42-4) = For Interval of validity=  $2^{2} - 4x - 4 > 0$ >As we know that  $an^2+bx+c=0$  $\chi = -b \pm \sqrt{b^2 - 4ac}$ -> B + where b= - 4 g a= 1 and c= - 4  $\pi = -(-4) \pm \sqrt{(-4)^2 - 4(1)(-4)}$ 2(1) $x = 4 \pm \sqrt{16 + 16}$ 2= 4 +1/2 2 2  $x = 2 + 2\sqrt{2}$ -> 80 O REDMI NOTE=82+252, 2-252 O AI QUAD CAMERA 2020/4/19 21:05

11533 MOTOWOTOFOS 8 Date:...../20...... → So we will get the positive Quadratic will be zero at 2=2+252 So possible interval validity will 10 8. 6. 20 2 4 2 3 : Aladratic graph; - & possible interval of validity are - 2< n < 2 - 2.52 2+252 < 2 < 2 from the graph of the quadratic we can see the second one contains 2 = 5, So therefore 21 = 59 So therefore 2+252 < 2 6 00 5 x Ć 1234 10 56 7 8 9 Darsi Notes REDMINOTE 8
AI QUAD CAMERA 2020/4/19

Qa Solve the following IVP using Linear differential method. (i) Explain the steps for solving Linear Differential typution . STEPS:**p** = First we put the differential equation in correct form (if its not)  $\frac{dy}{dx} + p(x)y = g(x)$ \*P2 Naw we find the integrating factor u(x), by using the below equation. u(x) = eSp(a)dx pow we me It ply everything in the differential equation ation the product rule.  $(\mathcal{U}(x) y(x))$  $\mathcal{U}(x) dy + \mathcal{U}'(x) y = (\mathcal{U}(x) y(x))$ -Alow as we know u(t) dy + u'(K) y = u(K) y (x) Co we will replace the leftside en A with of the this, we  $(\mathcal{M}(\mathbf{x})\mathbf{y}(\mathbf{x})) = \mathcal{M}(\mathbf{x})\mathbf{g}(\mathbf{x})$ 

NIS 33 MOTOWOTOFOS Date:...../..../20...... Step 4 Infourth step we will integrate both sides and we will make sure to properly deal with constant. Sau(n) y(n)) dn - fau(n) g(n) dx  $\mathcal{U}(n) \mathcal{U}(n) + c = \int \mathcal{U}(n) \mathcal{Q}(n) dn$ Steps Now in last step, we will get y(n) м (¥) y(n) = J м(n) g(n) dx - С  $y(x) = \int u(x) g(x) dx - C$ (ii) Cos(x)y' + sin(x)y = 2cos<sup>3</sup>(x) sin(x) - 1 9 Y [K] = 312,05x5K Solution:  $\cos(x)y'tsin(x)y = 2\cos^3(x)sin(x) - 1$ >Dividing by cos(n), we get  $y' + \sin(x)(y) = 2\cos(x)\sin(x) - 1$   $\cos(x) \qquad \cos(x) \qquad \cos(x) \qquad \cos(x)$ Cosx As we know " sin = ton , 1 = sec cos Cost CO AI QUAD CAMERA Dars

MUTUWUIUFUS Date:...../..../20......  $y' + ton(x)(y) = 2cos^{2}(x) sin(x) - sec(x) - A)$ > Integrating factors: Stan(a) da intec(a) = ensecta) u(a) = e Stan(a) da intec(a) = ensecta) =sec(n) the differential condition (A) and verifying the left side is a product rule. sec(x)y+sec(x)ton(x)y=2sec(x)cos(x) sin(x)-sec(x) (sec(x)y) = 2cos(x) sin(x) - sec<sup>2</sup>(x) Now integrating both sides  $\int (sec(x)y(x)) dx = \int 2\cos(x) \sin(x) - sec(x) dx$ > By integrating we get.  $Sec(\pi) g(\pi) = \int sin(2\pi) - Sec^2(\pi) d\pi$ > Now Again integrating swe gat sec(x) y(x) = Sin(2x) - (sec<sup>2</sup>(x) dx sec(n). y(x) = 1 (sin (2x) dx - ton (x) Sec(x).y(x) = -cos(2x) - ton(x) + c🔵 🔿 REDMI NOTE 8 ○ AI QUAD CAMERA 2020/4/19-21:06

 $\frac{12}{2} \frac{1533}{100} \text{ M} \text{T} \text{W} \text{T} \text{F} \text{S}$   $\frac{52}{2} \frac{12}{2} \frac{1533}{2} \text{ M} \text{T} \text{W} \text{T} \text{F} \text{S}$ Date:...../..../20...... > Now multiplying cos(n) to the right side of K we get - $\int = \frac{-1}{2} \cos(2\pi) \cos(2\pi) - \cos(2\pi) \tan(2\pi) + \cos(2\pi)$ yln = -  $\log(n)\cos(2\pi) - \sin(n) + c \cos(\pi)$ pplying the initial condition 2  $cos(2\pi) - Sin(4)$ cos(T) 3~ + C cos (A + C COS T Ay 3 2 = 0 TT 2 -Sin cos So + 3.17 = -3/2  $3\sqrt{2} + \sqrt{2}$ ×2 52 : 7 **REDMINOTE 8** 2020/4/19\_21:0 Pars ()AI QUAD CAMERA

11533 MOTOWOTOFOS Date:...../...../20.....  $\sqrt{2} N_{ou} putting value of c in equation$ y(x) = -1 cos(x) cos(2x) - sin(x) + 7 cos(x)13 6 4-2 x -2-4 (111) x+2x = sint Solution: x+2x=sint ->A Aswekpow that da + py = = 21 rere  $Py = 2\pi$ Q = sirone functions of orconstant factor we know that I.F = p Spdx integrating O REDMINOTE 8 🛇 al quad camerão 2020/4/19 21:07

tow multiplying bis call eq @ with integrating for  $\int \frac{d}{dt} e^{2t} \varkappa = \left( e^{2t} \sin(t) dt \right)$ we will integrate by row (Right Side)  $\int \frac{d^2t}{x} = \frac{e^{2t} sin(t)}{e^{2t}} - \int \frac{e^{2t}}{e^{2t}} \frac{d^2t}{x} = \frac{e^{2t} sin(t)}{e^{2t}} - \int \frac{e^{2t} sin(t)}{e^{2t}} \frac{d^2t}{x} = \frac{e^{2t} sin(t)}{e^{2t}} - \int \frac{e^{2t} sin(t)}{e^{2t}} \frac{d^2t}{x} = \frac{e^{2t} sin(t)}{e^{2t}} - \int \frac{e^{2t} sin(t)}{e^{2t}} \frac{d^2t}{x} + \frac{e^{2t} sin(t)}{e^{2t}} \frac{d^2t}{x} + \frac{e^{2t} sin(t)}{e^{2t}} - \int \frac{e^{2t} sin(t)}{e^{2t}} \frac{d^2t}{x} + \frac{e^{2t} sin(t)}$ a row $\int \frac{d}{dt} \frac{\partial^2 t}{\partial t} \chi =$ dt  $e^{2t}\cos(t)$  $\frac{d e^{t} x}{dt} = \frac{e^{t} \sin(t)}{2} - \left(\frac{e^{t} \cos(t)}{4} - \frac{e^{t} \sin(t)}{4}\right) \frac{d^{2} t}{4}$ applying lineasity.  $\frac{e^{2t}n = e^{2t}\sin(t) - \left(\frac{e^{2t}\cos(t) + 1}{2} \left(\frac{e^{2t}\sin(t)}{4}\right) + \frac{1}{2} \left(\frac{e^{2t}\sin($ now integral offersin(t) dt  $e^{2t} x = e^{2t} \left( 2\sin(t) - \cos(t) \right)$ \* O REDMINOTE 8 CO\_AI QUAD CAMERA 2020/4/19\_21:0

15 11533 MOTOWOTOFOS P3 Solve the following IVP for the exact equation and find the interval of validity for the solution: (i)  $2xy - 9x^2 + (2y + x^2 + 1)dy = 0$ , y(0) = -3Solution :  $2xy - 9x^2 + (2y + x^2 + 1)dy = 0$ → First we will identify MEN for which we know that M(2, y)+ N(2, g) dy = 0 -> So M= 2xy-9x & M= 2y+x+1 - Now for My Endy we know that  $\frac{dM}{dy} = M \quad \frac{dM}{dy} = 2\pi y - 9\pi^2$   $= 2\pi = My$   $\Rightarrow 80 \quad My = 2\pi$  bw  $\frac{dM}{dx} = 2y + \pi^2 + 1 = 2\pi = My$ → do · My= Ny O REDMI NOTE 8 2020/4/19 21:07 AI QUAD CAMERA

NIS 33 MOTOWOTOFOS > low for fir ding Y(2, y) we know that Date:...../...../20.. Ta=M·E ty=N ou integrating. T= JMdx of T= J Ndy -> 80  $\frac{1}{(x,y)} = \int 2xy - 9n^2 dx$  $(1)(x,y)=2y\int ndx-9\int n^2dn$ T(ny) = Zy n² - 37 n³ + h(y) : By powerrule  $+(n_{y}) = n_{y}^{2} - 3n^{3} + h(y)$ > To this case of integration is not constant at all because we are working with two variables > To determine h(y) we will use ty = N > Differentiate our Y(x,y) with respect to y and set is equal to N.  $Y_y = x^2 + b(y)$  $\frac{2y + x^{2} + |=1}{S_{0}}$ C REDMI NOTE 8 2020/4/19\_21: Oves  $\bigcirc$  alquad camera

MUTUWUTUR Date:...../20..... > Now we can integrate to find tr(y)  $h(y) = \int 2y + 1 \, dy$   $h(y) = \frac{2y^2}{2} + y + K$  $h(y) = y^2 + y + k.$ > Now we can write +(2234) = 224 - 322 + 4+4+K  $= y^2 + (x^2 + 1)y + k - 3x^2$ As we know Y (2, y) = C, so y=+(x=1) y - 3x3 + K=C y=+(2+1)y-323= C-K Excluding  $k: y^2 + (y^2 + 1)y - 3z^3 = c - A$ > ow applying initial condition  $(-3)^{2}+(0+1)(-3)-3(0)^{3}=($  $\begin{array}{c} 9 - 3 - 0 = c \\ c = 6 \end{array}$ -> putting value of c in eq (A)  $y^{2} + (x^{2} + 1) y - 3x^{2} = 6$  $y^{2} + (x^{2} + 1) y - 3x^{2} - 6 = 0$ 2020/4/19 21:08 🛇 AI QUAD CAMERA

IIS33 MOTOWOTOFOS . 31 18 Date:...../...../20....  $\frac{10}{2} \left( \frac{1}{2} \right) \left( \frac{$ anophying initial condition to find  $-3 = y(0) = -1 \pm \sqrt{25}$  $\frac{-1\pm5}{2}$  - - 3, 2 So we take "-" and the explicit solution is  $y(x) = -(x^2+1) - x^2 + 12x^3 + 2x^2 + 25$ > Now for interval of validity  $x^{4} + 12x^{3} + 2x^{2} + 25 = 0$ By approximating the root using the bisection 2=-11.81 & 21=-1.39 -2 -1 -2 -3 4 5 -2 -1 -2 -3 4 5 N 2 -4 Darsi Notes O REDMINOTE 8 2020/4/19 21:08 AI QUAD CAMERA

ii  $2ty - 2t - (2 - h(t^2 + 1)y' = 0, y(s) = 0,$  $t^2 + 1$ Solution : → In this equation first we will deal with Sign . So we will separate the terms. 2ty - 2t+(ln(t<sup>2</sup>+1)-2) y'=0 t<sup>2</sup>+1 -> Now aswer know that M(xoy) + N(xy) dy =0 -> So here  $M = 2ty - 2t \in M = ln(t^2 + 1) - 2$  $\frac{1}{t^2 + 1}$  $\sum_{m} b_{w} \int ormy \notin N_{t}.$   $\sum_{m} \int dM = M = 2ty - 2t$   $\sum_{m} \int dM = M = 2ty - 2t$   $\sum_{m} \int dM = M = 2ty - 2t$   $\sum_{m} \int dM = M = 2ty - 2t$ > low  $M_t$   $dN = N = ln(t^2+1)-2$ dt $\frac{2t}{t^2+1} = N_t$ So My = Nt which is exact > Integrating the first one + (ty) = f2ty -2+dt -> Applying lineosity O REDMINOTE 8 2020/4/19 21:08 ALQUAD CAME

 $\frac{1}{20} \frac{20}{1533} \text{ MUTUWITFS}$   $\frac{1}{20} \frac{1}{t^2 + 1} \frac{1}{t^2 +$ Date:...../...../20.. +2,  $\frac{dv}{dt} = 2t$  $\frac{dt = 1}{2t} dv$  $= \frac{1}{2} \int \frac{1}{2} dv$ I du the standard interval is lo(u) => 1 ln(u) => <u>ln(u)</u> 2  $A_{5} u = t^{2} + 1$ , so  $ln(t^{2} + 1)$ Jon It dt Applying power sule = tn+1 with n=1  $= t^2$ low putting the values  $\frac{2t^2 + h(y)}{2}$ 2y ln (+2+1  $ln(t^2+1)$ H Darsi Metro 8-🔵 REDMINOTE 8 2020/4/19 AI QUAD CAME

1533 MOTOW Low differentiating withrespect to y & composing to Not the spect to y & composing MOTOWOTOFOS Date:...../...../20......  $y = ln(t^2+1) + h'(y) = ln(t^2+1) - 2 = N$ So h'(y) = -2h(y) = -2 h'(y) = -2 h'(y) = -2 h(y) = -2y h(y) = -2ySo equation (H) becomes  $+(t,y) = y \ln(t^2+1) - t^2 + (-2y)$  $Y(t_{y}) = y ln(t^{2}+1) - t^{2}-2y$ -> So the implicit solution is yln(t2+1)-t2-2y= (-R) > Now applying the given initial condition  $y(s^{-}) = 0 \text{ and } x = 0$ (o)  $(\ln(s^{-})^{2} + 1) - (s^{-})^{2} - 2(0) = C$  $-2s^{-} = C$ > putting value of c in equation  $y(ln(t^2+1)-2)-t^2=-25$ **REDMI NOTE 8** 2020/4/19 21:08

1533 MOTOWOTOFUS 22 Date:...../...../20...... low solving y  $y(t) = t^2 - 25$   $ln(t^2 + 1) = 2$   $\therefore Divided by ln(t^2 + 1) - 2$   $= subtracted - t^2$ > Now for interval of validity  $ln(t^{2}+1)-2=0$   $ln(t^{2}+1)=2$   $(t^{2}+1)=e^{2}$ → Now subtracting 1 and taking square root on b.s  $t^{2} + t - t = t \sqrt{e^{2} - 1}$  $t = + \sqrt{e^2 - 1}$ ditio we can have three possible intervals of vilidity - 22 t < [e2--Je2-1 < + < Je2-1 Ne2-1 Kt <00 The interval of validity is Net-I at 200 because it contains 5-JE-200 14 . 6 8 1 n - 100 10 -3 O REDMI NOTE-8 \_\_ ○ AI QUAD CAMERA 2020/4/19 21 8895i